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7.4 Solving Linear Systems by Substitution

The substitution method:
Step 1: Isolate one variable in one of the equations.

Step 2: Substitute the equation you get from step 1 into the other equation, thus
eliminating one of the variables.

Step 3: Solve for one variable using the equation from step 2.

Step 4: Substitute the solution from step 3 into your equation from step 1 to solve for the
second variable.

Step 5: Write your solution as an ordered pair (x, y).

Example: Solve each of the following systems of equations using the substitution method.
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Note: Multiplying or dividing equations in a linear system by a non-zero number does not
change the graphs. So, their point of intersection (ie. the solution) of the linear system remains
unchanged.
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